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5.2 Solv\’ncs Snﬁs{ms o EQLLQHDns b'j SubsHtuton p- A1

i

iISteps: M) solve one eciqq;\—.‘on Lor ont Variable
(Tsolote Hhe X% or \J ~Wwhichever is easier )
Q) subskitute +the expression you Solved
+or in step | {nto the cond aﬁtu:k-{m
ond solve for thu othu~ vartable
2) subshhde the value from i"ﬂ:ap A into
one. ot the on‘ﬂinal 24 uat™dNs and
solve Lor the other variable
chede Jour X Ond Y value works
v otn *ch/u_ct\-ic)nﬁ

; €>camgle_ = QAx -4 Skeplt The First egquathon
73"' ay =5 = is already 7solwd for y
! so leave 1t
; Step 8:  subshtete the expression  Ax-Y
| Lor the y 0 the Seond equation
TIx - Ax-Y)=5
Tw—-4x +§ =5
33x + § =5
B = =0
x= —~| |
S-I;z)o 3 Substihde —1 +4or X in ethu
-ethcmh"on to nd v \ = al-0) -4y

rEa)
[y="-C]
The Solution is (—f,‘(a)

Chack G = a(D-¢  T-N-2A-6)=5

—b= -2-Y =3 i = B
= e &
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|  Hy+ ¥ —-10 =0 e —

| 3= 3x ( Hx+2\/§l-x-5\/= O

| &E8) \ 5% -10 =

| 110y + (ot '—(y = -

2 (Syrd)+Uy=—) x = 5(-4\ £ -

3
AHy b=~ XS -2 a3

_ {Hay = =]




